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(a) Given that cos = R and that % < 0 < 27 , show that sin20 = ~ g5 and evaluate
cos 30 .

3tanf — tan3 0
1 —3tan%6

(b) Prove the identity tan 30 =

Hence evaluate tan @, given that tan 360 = —12—1 and that Z— <6< g .
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3 3 24
(a) Given that cosf = N and that 77[ <@ <2m,show that sin26 = ~55 and

evaluate cos36.

_ 3
(b)  Prove the identity tan36= 3 tlanZt tzzng 0 . Hence evaluate tan@, given that
—3tan

11
tan36 = — and that ZSHSE.
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@ Gventha cond= andthat 7 052, show that 20 /
evaluate cos36. gy l
(b)  Prove the identity tan36= T - Hence evaluate tan6, given that
an30=" and that £ <0< o > 1
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(a)  Given that cosf=_ and that 7” <0 <2, show that sin20=—, and

evaluate cos36.
3tanf— tan’ @

> . Hence evaluate tan#, given that
1-3tan" &

(b)  Prove the identity tan36=

11
tan36 = — and that ZSOSZ.
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Given that cos@= i and that 32—” <0<2rm,show that sin28 = _E ,and

evaluate cos34.

3tan@— tan’ &
Prove the identity tan360 = ——————. Hence evaluate tan@, given that

1-3tan’ @

1
tan30= — and that = <9< .
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